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i - FACBIp = EBLT — Kecium
1r=10n 171=1000 kr 1 mymen = 13 :xac it
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1 — 1000 L anra = 7 raynik
St - Hemece 7 KyH (—\ IlexBep
1n= 10100 = 100 cm 1 car = 60 mun
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MACCA XOHE OHbIH BIPJIIKTEPI = g
1 kr= 1000 r 17=10y g
1Tu=100«kr 1 ¥ =1000 «kr :
¥3blHAbIK XXSHE OHbIH BIPJNIKTEPI S
1M = 1000 m 1am=10cm
T =AC 1m =100 cm
1 kM2=1 000 000 M2 1 M2 = 10 000 cm2
1 m2 =100 pgm?2 1 cm2 = 100 mm2 < i
1 am2 =100 awz 1 am2 = 10 000 mm2 {
1ra = 100a Al
YAKBIT GILIEM BIPAIKTEP] ChIfbIMABIBIK
1raceip=100Xbin BNUWEM BIPNIKTEPI
Ixuin=12aw 1 xy6 metp (v%)=1000 ky6 aeunmeTp(amd)
1Toynik =24 carar 1 xy6 metp (M3)=1 000 000 xy6 caHTumeTp{cmd) 5
1caraT =60 MUHYT 1 xy6 AeunmeTp(AM3)=1000 ky6 canTumeTp(cwd) S|
TMnH =60 cexyug 1 nwrp (R)=1 ky6 peuumerp(amd) B2
9 x 3 = epHek 27 : 3 = epHex f |
9 x 3 = kebenTiHai 27 : 3 = Genixpi
9x3=27 27:3=9
9 - kebeiTKiw 27 - Geninriw 5
3 - kebewTKiw 3 - Genriw
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